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In Englisch-Gunsberg (1885) White played 1 Raxa6 and drew.  Can you find an alternative move that wins quickly (3 moves)?
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Israel recently hosted the World Teams Championship for continental champion nations and the Men’s & Women’s Olypiad champions.  The Chinese Men’s team, which contained no player in the world’s top 50, looked likely to cause an enormous upset when they led by 4 points with 2 rounds to play.  They then suffered their first loss, going down 1.5-2.5 to Armenia, and were then defeated 0.5-3.5 by Russia, leaving Russia winners by 0.5 points.  Final scores:  Russia 22/32, China 21.4, Armenia 18.5, Ukraine 17.5, USA (a team of former Russians)16.5, Israel 14.5, Georgia 13.5, Cuba 13, Chinese Women 7.  African champions Egypt declined to play leaving a bye each round. The world game of chess only started to become popular in China from 1980 and, while their women have been outstanding with two Women’s World Champions and victories in a number of Women’s Olympiads, this is the first major achievement by their men. 

In the Sicilian Black is regularly subject to attacking systems in which White castles long and pawn-storms the Black king.  Today’s game, from the championship in Israel, shows the Russian Alexander Morozevich, by means of a clever pawn sacrifice, getting his attack in first:



Yuniesky Quezada   -   Alexander Morozevich



2005 World Teams, Round 1:  Beersheva, Israel



Sicilian:  English Attack



 1    e4  
c5  


 2    Nf3  
e6



 3    d4  
cxd 


 4    Nxd4  
Nc6



 5    Nc3  
d6  


 6    Be3  
Nf6



 7    f3  
Be7  


 8    Qd2  
0-0



 9    0-0-0 
a6  


10   g4  
Nd7



11   h4  
Nde5  


12   Qg2  
Nxd4



13   Bxd4  
Nc6 


14   Be3  
b5



15   Kb1 
Qa5  


16   g5  
b4



17   Ne2  
d5(a)  


18   exd5  
b3!



19   cxb  
Nb4 


20   Nc1 
exd




21   Bd3(b)
Nxd3 


22   Nxd3 
Qb5



23   Ka1 
a5  


24   Bd4  
a4



25   b4  
a3  


26   b3  
Bf5



27   Qg3(c) 
Rfe8  


28   Ne5  
Bd6



29   Qf4  
g6  


30   h5  
Qxb4



31   hxg  
fxg 


32   Nc6(d)  
Bxf4 



33   Nxb4  
Re5! 


34   Nc6  
Re6



35   Nb4 
Bxg5 


36   Nxd5  
Rd8



37   Bc3  
Rc8 


38   Bb4 
Rc2



39   Rhe1 
Rxe1 


39   Rxe1  
Be6!(e)



41   f4  
Bh4 


42   Ne3  
Bf6+



43   Kb1  
Rb2+  


White resigns  

a)  An interesting novelty (17...e5 was customary) seeking to develop the c8 bishop aggressively on f5.

b)  21 a3 seems better – 21...Bf5+  22 Nd3, Nc6  23  Qd2, Qb5  24 Ka2, d4  25 Bf4, Be6 with attacking chances for the pawn.

c)  A cheap trap – 27...Bxd3?  28 Qe5!  Better was 27 Qd2.

d)  Black’s attack remains strong after 32 Qh4, Qb7  33 Ng4, Bxg4  34 Qxg4, Re2 but at least White has some play against the Black king.

e)  Atacking the knight which has been preventing ...Bf6+.

The final WA Grand Prix event is the Christmas Open on Sat / Sun December 3 / 4.  It is hoped there will be a strong turnout for this event.

SOLUTION:  With king and both rooks menacing Black’s king exposed in the corner and with Black’s rook on a5 a bystander White should have seen 1 Ra8+, Rg8  2 Kf7!! Rxa8  3 Rh6#.

    

